Golden Jubilee Fours

Women Score

July 1-2, 2012
Women
GroupA [ cccs | cLBCc2 csb-1 | FC2 | FSLBC-L | HKFC-1 | TKOBC-1 GroupF [ cder3 |  ccct FSLBC2 | 1LBC-1 | IRC4 | Kccl | sSTsA-1L
Pts IFor |Ag |Pls |For |Ag Pts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts IFor |Ag Pts | For | Ag | Dif | Pts IFor |Ag |Pls IFor |Ag Pts IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pts IFor |Ag |Pts IFor |Ag | Pts I Forl Ag | Dif I
Al CCC-5 [& & 4 " 2" 6" 3" 20 & & T & _ 8 _2_ "% "2 "o "4 70 "2 "6 2] o s 2 12] [FL| CdeR-3 g ot of ut o b R T i loll et of 9t v iy T8 R 2 2 s
A2] CLBC-2 0 3 6 . 2. 8 2 Q 4 s o} _5 b 2 7 .3 ,0 .2 ,10 4 29 35 -6 F2 CCC-1 2 11 0 . 0 3 6 2 1 ,2 ,2,6,4, 2,5 3 Q 2 b 8 38 21 17
A3] CSD-1 o 3 8 0 2 8f 4 »1 25252 0s 2« 6 Os 3= 6+ & 5 3 3 20 36 -16 F3] FSLBC-2 2 14 1 2 6 3F G5 4 e 24 70 22 3 8 b =2 a7 =2 =22 8
A4l FC-2 1 6 6 2 8 4 1 5 55 g 4 , 2 m = 0 "3 "8 "0 "4 "5 6 37 33 4 F4] ILBC-1 2 7 6 0 2 11 o 2 7 F 4 S o4 10" 0" 22 ¢ 06 B 7T 2 20 5 -30
A5| FSLBC-1 o 2 8 2 6 5 2 6 2 0 5 11 i a g g g5 4 26 40 -14 F5 IRC-4 2 12 3 0 4 6 0 5 8 2 10 4 "2 - A5 g S 21t s B S O
A6|l HKFC-1 | 2 10 4 o 3 7 2 6 3 2 8 3 2 9 4 4 4 4 "0 "4 "¢ 8 a0 27 13 F6| KCC-1 2 8 4 0 3 5 0 2 7 2 9 2 o0 4 s GG, 3. 9. " 6 35 27 8
A7] TKOBC-1] o 2 6 2 100 2 0 3 5 2 5 4 2 5 3 2 6 4 8 31 24 7 F7] STSA-1 0 2 8 2 6 2 0 1 8 2 7 3 0 5 1 0 4 9 4 25 41 -16
Check 42 221 221 0 Check 42 237 237 0
GroupB [ FPLBA-1 | HKYDT3 | HKPBC2 | KBGC-3 sBSC2 | sce1 |  wviBc3 | GroupG [ ciBca | FC-4 [ Hkcc2 | Hkrca | sBsc4 | usrc-l | wsc-l
Pts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts For |Ag |Pls |For |Ag IPts IFor |Ag | Pts | For I Ag | Dif | Pts IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag | Ptsl Forl Ag | Difl
B1] FPLBA-1 | & & e e ot Dy vee g XOr R BTSRRIy YR DRI 3 28 50 22 G1] CLBC-1 A O A 1oy 22 LAT L LB Ry LA R R e s e YA LGNS 8 35 22 14
B2| HKYDT-3 1 5 5 e 2 B G R T " D D .5 2 .2 .7 .6 .2 .9 .20 11 4 26 15] [G2 FC-4 2 6 4 e R D 2 O 6 e 2 S et A 20 8 R 0, a5 o S | I ONRG O A U1
B3[HKPBC2| 2 9 6 o 6 s8f & "1 =44 1= 5= 5= 2= 52 2 O 4 8 6 33 33 0 G3| HKCC-2 0 0o 5 0 o 5 F 0. 00 = o0 6 =0 =0 =5 =0=0=5 0 0 30 -30
B4| KBGC-3 2 12 5 0 5 7 1 4 44 G 4 , v w 7 0 "2 "9 "0 "0 "10 3 28 42 -4 G4] HKFC-4 o 3 7 o0 6 9 2 5 of J 4 F 2 95" 0" 3 68 06 2 9 4 28 36 -8
B5| SBSC-2 o0 3 4 0 2 5 1 5 5 2 7 5 " o0"a5" 7 d 53 18 3 2675 36 -9 G5| SBSC-4 1 5 5 0 4 5 2 5 0 0 5 9 2T 2T 7T 33 25 8
B6| SCB-1 2 12 1 0 6 7 0 2 5 2 9 2 2 7 45 G4 4 F "o "7"5 6 43 245 19 G6] USRC-1 1 6 6 0 5 8 2 5 0 2 6 3 0 2 74 H& M, 3. 5.5 7 30 2 1
B7| VLBC-3 2 9 7 0 2 9 2 8 4 2 10 0 2 1053 2 5 7 10 44 3025 12 G7] _WSC-1 0 2 9 2 8 5 2 5 0 2 9 2 7 0 5 6 6 33 29 4
Check 42 2438 2438 0 Check 42 198 198 O
GroupC [ GBLBC-1 | HKCC3 | HKFC5 | HKPBC-1 | IBG2 | Kcc2 | usrca | GroupH [ cder2 | FC-3 [ mkvyorr | sesca | stsA3 | T™Msa1 | wviBc1 |
Pts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts IFor |Ag | Pts | For I Ag | Dif | Pts IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag | Ptsl Forl Ag | Difl
C1] GBLBC-1] & _# 2 0 5 0 0 18 0 _ 4 _ 7 _ 2 1fo_ 5 0o "4 6 2710 5 6 28 46 -18 H1[ CdeR-2 ol gl "o 3T s 0 A B o TR e AT er 2 e IV A 2 24 s
C2[[HKCC3 | o 5 o .70, 0 & Q 0 B D O 5 .0 .0 .5 .0.0.5 0 5 25 -2 [H2 /S 2 5 3 e TsTuT 2 2 2 ea s 0T T s W[ o 6]
C3| HKFC-5 2 18 0 2 5 of J "2 6= 2% 0= 1= 7= 2= 7+ O« O 2 18 8 39 19 20 H3 [ HKYDT-1 2 9 3 2 1 s G . 1. 5. m 3 6 W w2 w5 24 s0=6=7 9 42 28 14
C4|HKPBC-1| 2 7 4 2 5 o0 o0 2 64 4" 4 , 2 m ™ "0 "5 "6 "2 "7 "4 8 36 24 12 H4 | SBSC-1 2 4 3 o0 2 12 1 5 s5f g 4 F o3 6" 2" 8 2z 06 % 9 5 26 37 -1l
C5| ILBC-2 0 5 10 2 5 0 2 7 1 0 4 10 " 0" 0" 17" & & 10 4 24 48 24 H5| STSA-3 0o 1 9 0 3 6 0 4 6 2 6 3 "0 "4 "5 "2"5" 3 4 28 3R -9
C6| KCC-2 2 6 4 2 5 0 0 0 7 2 6 5 2 17 o & F Ty "3 [0 s 2 5] [H6 TMSAL | 2 6 2 o 3 10 o 4 5 o 2 8 2 5 a4 4 F 5 5.5 6 2 3 -8
C7| USRC-3 0 5 10 2 5 0 2 10 2 0 4 7 2 10 3 0 6 3 6 40 25 15 H7] VLBC-1 2 10 4 1 5 5 2 7 6 2 9 4 5 0 5 6 7 39 30 9
Check 42 209 209 0 Check 42 223 223 0
GroupD [ __AvFP2 | HKFC2 | HKYDT2 | IRC3 | TPLBC-L | USRC2 | ViBC4 | Group! |[__ccc2 | cdera | cLBC-3 | IRC-2___ |  KBGC-1 | sBsc-3 | viBC2 |
Pts IFor |Ag [pts [ror Jag [pts [For [ag [pts [For [ag [Pts [For [ag [pts [For [ag [pts [For [ag [ Pts | For [ Ag [ bif | pts_|For [Ag [pts [For [ag [pts [For Jag [pts [For Jag [pts [For [ag [pts [For [ag [pts [For Jag | pts [ For [ Ag [ bif |
D1| AYFP-2 ¥ 2 JJ .3 .0 .4 .6 ,2 .11 _,3_,2,9, 6, 0, 4 5 2 13 Q 8 48 23 25 11 CCC-2 T p 2 10 .0 .2 ,7,.0, 5, 6 Q 3 6 0 .3 Al 2,7, 4 2 22 s -2
D2| HKFC-2 0 3 w20 B R I 2 S 2 T e L 2 6 S O P 12 CdeR-1 2 10 2 ool D a2 e 6 e O e e B M D B B 3. 7 35 24 11
D3[HKYDT-2| 2 6 4 o0 5 8 # 3 Jd ) a0 3e 20 72 62 20 5= 242 2 14 o 10 49 25 24] [13] CLBC-3 2 7 2 1 5 s T . 00 ga m @ 8 H =0 =5 =8 =2=8= 3 7 36 34 2
D4| IRC-3 0 3 11 0 4 11 0 3 12§ g g 4 1 % "% "0 "2 711 "2 "10 "4 3 28 55 -27 14 IRC-2 2 6 5 0 3 6 0 7 8F & & & "2"6" 2" 2" ¢ £ I % "5 7 33 30 3
D5[JPLBCL| o 6 9 0 5 7 0 6 7 1 6 6 L L P T L L 29 4 -17 [5| KBGCL | 2 6 3 2 6 4 2 9 3 0 2 6 Vo "2, "5 213" o8 s a3 w5
D6| USRC-2 2 5 4 0 1 7 0 4 5 2 11 2 2 9 1 4 4 . 2 1a & 8 40 25 15 16 | SBSC-3 2 11 3 2 5 3 2 8 5 0 4 6 2 5 24 4 & «0a3asa 4 8 36 23 13
D7| VLBC-4 0 0 13 0 5 6 0 0 14 0 4 10 2 8 5 0 6 10 & & 2 23 58 35 17 | VLBC-2 o 4 7 o0 3 7 0 3 8 1 5 5 13 2 4 38 4 & a3 2 w3 2
Check 42 259 259 0O Check 42 221 221 0
GroupE [ ccca | FC1 | HKFc3 | IRc1 | sBSC5 | STSA4 | USRC4 GroupJd [ AvFP1 | ccc8 | cCdeR4 | HKFC-6 | KBGC2 | sSTSA2 | TMSA-2
Pts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts IFor |Ag |Pls |For |Ag IPts IFor |Ag Pts | For | Ag | Dif | Pts IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pls IFor |Ag |Pts IFor |Ag |Pts IFor |Ag | Pts I Forl Ag | Dif I
El| ccCC-4 2 w7 22 22 w7 25 20 26 7w 2alla 2. 2. 7« 5 G 3 6 _8 41 27 14| [J1] AYFP-1 s 2 W5 w4 w0 w5 4124 22 7u 4 2 B A 2 a9 a6 4 1la 4. 4 9 38 34 4
E2| FC-1 o 2 7 g5 4 22 > 3 0 4 © 0O ¥ 7 =1 =5 =5 =0 =2 =5 3 26 36 -10 J2 CCC-3 0 4 5 gf g &'+ O 4 6 0 3 =5 =0 =3 7« 0« 3 & O B8 8 0 20 39 -19
E3[ HKFC-3 o 5 7 0 3 9 e 2n e 6 A 2018 N 0.0 00 N 6N L m S =B, 6 39 31 8 J3 | CdeR-4 2 12 5 2 6 4 S 207200 10 = 2 e A = G = R0 M 08 2 N 6.0 A D S
E4| IRC-1 2 7 6 2 9 4 0o 4 eF #F F 4 %2 %, 5, T0,"2 "9, "2 "¢ 3 8 3 3 1 J4 | HKFC-6 0 4 7 2 5 3 o0 1 w0F FF F g g 5" 1" 5 5 0,2, 11 3 20 a
E5| SBSC-5 0 2 1 2 7 4 0 0 13 0 5 6 5023 N8 0 3 B 2 20 47 27 J5 | KBGC-2 o 4 8 2 7 3 o0 3 4 2 5 3 « 2, 8 3 2 5 4 8 33 25 8
E6| STSA-4 0o 5 7 1 5 5 2 6 3 2 9 2 2 8 34 40 o0 3 & 7 36 26 10 J6 STSA-2 o 6 9 2 8 3 2 8 4 1 5 5 0 3 ga@ 4 4 =2« 6= 3 7 36 32 4
E7| USRC-4 2 6 3 2 5 2 0 5 9 0 3 6 2 5 3 2 6 3" 4 4 45 8 30 26 4 J7 | TMSA-2 1 4 4 2 8 3 0 4 6 2 11 2 0 4 6 0 3 64 4 4 45 34 21 7

1/7/2012 20:58

Women Score

Page 1



	Women Score

